AR T2 6 FEEBIETREND-OMBAELFR (REMX)

KEAERE EERERE
e BOEMERE | BHEDERE | BB RE
No. % wEre | MEE | X |TEOE| o moe mmE BE SS i il R |axs R eSS s
(m)  (m) | (em) (B  (mg/L) a a o] e ke
134CS 137CS 134CS 137CS 134CS 137CS
1 [#lE (4) # SEEWT [H26.11.15 S 0.06 0. 60 0.10 43 6 6 <1 <1 - - 4 65 <10 50[{EEE
RRIES SEEfm |26 11.15] = 0.07 |_0.50 __0.10__6OBLE 2 T < < - - 957 320 1.100[{a88
3 [JEpEh SEEWT [H26.11.13] = 0.07 0.50 0.10/ 60LAE 2 3 < < - - 12 65 30 40[EER
4 [maE# SEFEWT | H26.11.13 = 0.07 0.70 0.10 60LLE 1 1 < < - - 9 61 90 20028
5 [#R (1) ith SEEWH [H26.11.13 & 0.08 0. 60 0.10 60LAE 1 1 < < - - 6 66 90 240[4BE 8
6 | E/iRith SEEWH [H26.11.13 & 0.08 0.80 0.10 604t 2 3 <1 <1 - - 6 47 130 420|2E 8
EST) SEEMm [H26.11.13] 0.09 | __0.60___0.10] 60LLE i i < < - - 5 53 7.000 3200558
8 [T SEEW™ | H26.11.13 [55] 0.08 0.70 0.10, 60LAE 4 4 <1 <1 - - 9 65 660 2,200[{EE 2
9 [FEELH =EENT | H26.11. 14 E 0.06 0.80 0.10 60LLE 3 2 < < - - 2 59 260 910|:2E 8
0 [dbiFiRHA SEEWRT | H26.11. 14 = 0.07 0. 40 0.10 60LLE 2 3 < < - - 2 65 300 920[fRE &8
1 [R&@AM SEFEWTH [ H26.11. 14 & 0.06 0. 60 0.10 60LLE 1 <1 < < - - 2 55 50 160[1E B8
2 (AL SEEfm |H26.11.14] = 0.08 | _0.50 __0.10] 60LLE 2 2 < < = - 2 75 730 2. 600558
13 [&E5FF L SEEWTH [H26.11.14 = 0.07 0. 60 0.10 60LLE 2 2 <1 <1 - - 8 42 280 I0[FEEE
14 |48/ jHith =EEW™ | H26.11.14 551 0.10 0.90 0.10 60LLE 1 1 <1 <1 - - 10 33 230 190[2 B8
5 (sl SEEW™ | H26. 11. 14 551 0.09 0.30 0.10 60LAE 2 3 < < - - 2 il 110 30|EEE
6 |ZERmIEh SEEWT | H26. 11. 14 [551 0.08 0.70 0.10/ 60LLE 1 2 < < - - 2 13 310 90|:2E 8
1 |SikiEE SEEWT | H26.11. 14 = 0.07 0.90 0.10 60LLE 2 1 < < - - 2 66 210 190[eE 8
8 |EHmRE SEFEWT | H26.11. 14 [551 0.08 0.30 0.10 60LLE 0 <1 < < - - 2 45 <10 0[EEE
19 [EafEmlh SEEWTH [H26.11.15 [551 0.09 0.70 0.10 601t 2 2 <1 <1 - - 4 45 80 260[{EE 2
20 |#iE =iEFEWH | H26.11. 15 S 0.07 0.50 0.10 60LLLE 2 1 <1 <1 - - 11 57 670 2,200[fEE 2




AiR1 T2 6 FEEHETRENDOE-OMAERER (REMX)
KEAERE ERBERE
s REENERE | ROLMERE | REENERE
No. £ ¥ wark | MER | K& (FOE|akm mAk® BWE BE  SS i il B+ = Ri %
(m) (m) | (em (B  (mg/L) d d o] e e
134CS 137CS 134CS 137CS om 134CS 137CS
21 [MFRFI=&ith EZAH H26. 10. 25 & 0.08 0. 60 0.10 87 * 3 <1 <1 - 1 45 110 350[BEE
22 |H/RIE EZAH H26.10. 4 [ 0.13 0.60 0.10 44 9 10 < < - 2 56 530 1,700/ 8
23 |JIIFiTsE EZATH H26.10.26 | K& 0.06 0.50 0.10 62 * 6 < < - 2 58 320 T
24 |5EH—1R EZAH H26.10.25| K& 0.08 0.50 0.10 55 9 9 < < - 2 66 210 6801252
25 |®1T8 EZAH H26.10.25| B& 0.10 0. 60 0.10 60LLE 3 3 < < - 0 61 270 [T
26 |=ZENRE EZAH H26. 10. 3 = 0.11 0.40 0.10 10 40 42 <1 <1 - 11 38 30 100[2 52
2] |[REEFR EZHH H26.10.26| B 0.10 0.50 0.10 60LLE 4 4 <1 <1 - 12 55 80 ANEEET
28 | KiRAELR EZAHH H26. 10. 26 H 0.08 0. 60 0.10 60Ll.E 3 3 <1 <1 - 12 56 170 550[B 5
29 [ZEARAR EZATH H26.10.25| & 0.08 0.40 0.10 38 6 13 < < - 2 83 2,200 6, 800|512
30 |BHLEA Ly EZHH H26. 10. 7 [ 0.14 12.00 0.50 35 13 14 < < - 2 57 60 20025
31 |hEFR EZAH H26. 10. 3 = 0.08 2.40 0.50 75 1 4 < < - 2 56 280 80| R
32 |)\Atr=&ith E%AH H26. 10. 3 = 0.09 0.50 0.10 60LLE 1 2 < < - 5 43 90 200|288
33 [HEELE EZAH H26.10.3 = 0.10 1.50 0.50 48 1 1 <1 <1 - 12 61 1,800 5 400|2 B8
34 [ KFBIE EZAHH H26.10. 7 [ 0.08 13.90 0.50 85 22 19 <1 <1 - 6 41 40 130[E&5
35 |/MNEANIEHLE EZAHTH H26.10. 7 [ 0.07 0.50 0.10 66 10 12 < < - 12 14 20 60[EE 8
36 | KZRIRAE M EZAHTH H26.10.3 5 0.16 0.90 0.10] 60LLE 2 1 < < - 12 60 1,400 4,600|E52
37 [FE¥FE EZATH H26.10.25| B& 0.08 0.40 0.10 60LlE 3 4 < < - 6 14 170 630|EEE
38 [FEFEIIE EZATH H26.10.25| B& 0.09 0. 60 0.10 60LLE 4 3 < < - 10 56 360 1,200/ 58
39 [RERHIZ EZAH H26.10.25| B& 0.08 0. 60 0.10 43 10 6 <1 <1 - 10 63 120 360[2B 5
40 |EiRR EX Yokt H26.10.24| ®% 0.09 0.50 0.10 60LL.E 2 2 <1 <1 - 12 64 60 200[E8 5
41 |88 8%E1R EZAHH H26.10.26 | K% 0.08 0.40 0.10 60LL.E 2 2 <1 <1 - 10 62 100 280[B 85
42 |FDRE EZAH H26.10.26 | FB& 0.10 0.50 0.10 43 11 12 < < - 10 58 420 1,400/ 8
43 [Pl EZAHH H26. 10. 4 = 0.12 0.50 0.10] 601k 3 2 < < - 4 53 130 M0|EEE
4 Ay HR EZATH H26. 10. 4 [ 0.11 0.50 0.10 60LlE 1 1 < < - 4 61 90 290[=8 8
45 [T EZAH H26. 10. 2 [ 0.07 0.50 0.10 60LLE 1 2 < < - 4 60 390 1,200[E8 8
46 Rz EZAH H26. 10. 2 [ 0.08 0. 60 0.10 16 6 5 <1 <1 - 6 60 320 1,000[ES 8
47 2R (2) E%AH H26.10. 4 = 0.10 0.40 0.10 36 54 63 <1 <1 - 6 50 530 1,600[f25 2
48 [dbk2iE (1) EZAH H26. 10. 2 s 0. 06 0.70 0.10] 60LLE 1 1 <1 <1 - 8 57 50 160|252
49 [/MFIRIE EZATH H26. 10. 4 = 0.09 0.50 0.10] 60LLE 3 2 < < - 3 65 170 530[EEBE
50 [ K R4E EZATH H26. 10. 2 = 0.08 0.60 0.10 60LlE 1 6 < < - 2 55 510 1,600/
51 | ERARR EZATH H26. 10. 5 = 0.09 0.70 0.10 " 1 1 < < - 0 52 90 28028
52 [K¥E (3) E%AH H26. 10. 5 5] 0.08 0.50 0.10 55 6 1 < < - 3 66 200 640/ 5
53 |siER EZAH H26.10.5 5l 0.06 0.50 0.10 53 8 6 <1 <1 - 8 69 110 30[EEE
54 |K&RE EZAH H26. 10. 24 & 0.08 0.50 0.10 35 9 9 <1 <1 - 10 46 60 190[E 55
55 |Faifgikiz EZATH H26.10.24| K& 0.08 0.50 0.10 56 5 6 < < - 12 55 130 400|BEE
56 [HHIRIZ EZATH H26.10.24| K& 0.06 0.50 0.10 18 6 14 < < - 8 63 220 TS
57 [K#iE EZAHH H26. 10. 24 & 0.08 0.40 0.10 64 5 6 < < - 6 52 210 660|252
58 |[FEHFIE EZAHH H26.10. 4 = 0.07 0.60 0.10 56 6 5 < < - 15 67 610 1,900/ &
59 |[=FHt-oHith EZAH H26.10.24| B& 0.07 0.40 0.10 58 6 4 <1 <1 - 4 84 130 390[E8 5
60 [&Fi1Z EZHH H26. 10. 26 & 0.09 0.80 0.10 20 16 18 <1 <1 - 6 59 200 590[E8 5
61 [MFREF=OHM EX ¥kt H26.9. 11 & 0.07 0. 60 0.10] 60LLE 5 3 <1 <1 - 10 42 140 40|85
62 |[Ei2 EZAH H26. 7. 8 5 0.09 0.80 0.10 35 1 9 < < - 9 65 20 S50[BE R
63 |E#MIE EZATH H26. 7. 8 5 0.09 0.80 0.10] 60LLE 2 2 < < - 6 66 1,200 3,300[&ES R
64 |1l #iE EZAHH H26. 7.8 [ 0.09 0.80 0.10 60LLE 2 2 < < - 8 57 380 1. 100258
65 |KER E%AH H26. 7.8 5 0.08 0.80 0.10 82 5 3 < < - 6 56 400 1,200[42 52
66 [FTHIE E%AH H26.7.8 [ 0.07 1.80 0.50 43 9 1 <1 <1 - 10 64 420 1,200[ES 8
67 [EiB EZHH H26.9. 11 & 0.08 0.30 0.10 37 5 4 <1 <1 - 6 74 200 UEEETS
68 [FARIE EZAH H26.9. 11 & 0.08 0.50 0.10 61 6 5 <1 <1 - 10 35 40 120|252
69 |#%1E EZATH H26. 7. 14 = 0.09 0.50 0.10 32 21 27 < < - 12 42 10 20[=EE
70 [despiR EZAHH H26. 7. 14 = 0.08 0.40 0.10 32 4 1 < < - 2 68 530 1,500 S8
11 |FdiE EZAHH H26. 7. 14 = 0.07 0.50 0.10 34 1 12 < < - 2 14 120 0B E
12 _|t8iliE EZAH H26.9. 12 [ 0.07 0.50 0.10 60LL.E 2 1 <1 <1 - 2 14 180 580[= &
13 [KIhIE EZAH H26.9.9 [ 0.13 0.40 0.10 60LLE 1 2 <1 <1 - 6 49 60 T
14 [ RETIR EZAH H26.9.9 & 0.10 0. 60 0.10 16 4 4 <1 <1 - 12 48 150 T
15 | KIRATiE EZATH H26.9. 9 [ 0.12 0.60 0.10 93 3 2 < < - 6 58 220 120|858
16 |AERELR EZATH H26.9. 9 [ 0.07 0.70 0.10] 601k 2 1 < < - 12 68 30 110[E55E
17 |HERE EZAHH H26. 9. 8 i 0.10 0. 60 0.10 36 9 1 < < - 6 13 710 2,000[&E5 2
18 |#ERiE EZHH H26. 9. 8 [ 0.10 0.90 0.10 48 8 6 < < - 6 33 80 TS




AR T2 6 FEEBIETREND-OMBAELFR (REMX)

KERERER EERAERE
WEEERE | RETEREEE | R EmERE
No. £ R HEH KR BKE | BRE  BE ss *1‘25 aKkE (Ba/ke) e
(m) (cm) ()  (mg/L) o] e arke
134CS 134CS 137CS

79 3TAR EX%:hi H26.9. 14 0.08 0.60 0.10] 601 E 3 3 12 55 180 570|%2

80 [$THIE =% A5t | H26.9.14 0.07 7.40__ 0.50 38 3 2 3 1 110 320[%2

81 |HAEBRE EZ 5t H26.9.8 0.08 0.60 __0.10 4 9 ] 3 52 340 7,000[2

82 |HAERE3RE EX¥ihi H26.9.13 0.07 0.40 0.10 49 8 11 12 21 340 1,000|%&

83 [AHES EZATH H26.9.12 0.09 0.40 0.10 22 23 13 6 51 70 200

84 |HA=RERF1IE EZATH H26.9.12 0.10 0. 60 0.10 32 10 9 12 58 160 470|482

85 |[EX%BiE EX%:hi H26.9.13 0.08 — — — — — 2 29 10 30(%2 AEEKAE KT A
86 |/MEFHEF 1R EZAHH H26.9.13 0.09 — — — — — 6 72 270 780(2 BB KAVE KA AL
87 [N MR EZ 5t H26.9.13 0.07 0.60 _ 0.10 52 5 5 2 53 60 10032

88 |HA = RERFE2R EZAH H26.9. 12 0.09 — — — — — 2 34 30 80|%8 SAEREKAE <FKF A
89 [FEFE2E EX¥hi H26.9. 12 0.09 0.60 0.10] 601 E 3 4 3 40 200 600[42

90 |#MHERE EZATH H26.7.16 0.07 0.60 0.10 62 21 16 12 14 380 1,100

91 [EELEETIR EZATH H26.7.16 0.09 0.50 0.10] 601 E 6 5 2 73 90 280(12

(Y EEY EX%:hi H26.7.16 0.09 0.50 0.10 61 2 1 12 83 30 100{%8

R ETER] =% 5t | H26.7.16 0.09 0.60 __0.10 72 3 3 2 76 240 840[%2

94 [feEMKIE =% 5t | H26.7.17 0.08 0.60 __0.10 78 7 8 5 78 140 510[%2

95 |HhIR EXYihi H26.9. 2 L] 0.07 0.60 0.10 76 5 5 4 55 <10 <10[%8

96 [ERFER EX¥ihi H26.7.17 L] 0.07 0.60 0.10 66 5 5 12 4 520 1,500|%&

97 |IBIREE21E EZATH H26.7.17 5 0.08 0.60 0.10 61 4 4 2 40 100 320

98 |#riE EX¥ihi H26.7.17 g 0.10 0.60 0.10] 601 E 4 4 6 58 270 810[%2

99 [EHRFEIR EX%:hi H26.7.17 & 0.07 0.60 0.10] 601 E 4 4 3 61 360 1,000]/%&

00 EAE2E =% 5t H26.7.17 | & 0.09 0.60 _ 0.10 60LLE 5 6 12 61 270 760]%8

01 |/NE/ REE EZ 5t H26.7.17 | & 0.07 0.60 __0.10 58 70 75 12 75 530 1,500[%2

02 |ZEiRiE EX ¥k H26.7.10 = 0.06 0.80 0.10 70 29 17 8 54 200 580(%@

03 |[EBERE EE ¥ H26.7.10 [55 0.06 0.80 0.10 79 5 5 2 44 10 50|48
104 |2 EZATH H26.7.10 [55 0.07 0.80 0.10 32 14 15 8 49 <10 20
105 [/MEIZ EX %k H26.9.2 [ 0.07 0.40 0.10 37 22 16 6 73 70 210(%8
106 [/NAYERE EXE¥:ihi H26.9.2 [ 0.08 0.60 0.10 32 10 9 3 39 <10 2048

07 [FERAE EZ 5t f26.9.8 | f& 0.07 0.60 _ 0.10 60LLE 2 2 2 Y] 70 260[%2

08 [tHZEFIE EX¥ihi H26.7.17 = 0.07 0.60 0.10 34 10 52 2 45 170 520(%8

09 [EBAFE21E EXE ¥k H26.7.16 = 0.07 0.40 0.10 81 5 4 2 74 610 1,700/

10 |—/iRig EZATH H26.9. 2 [55 0.09 0.50 0.10] 601 E 2 1 6 51 170 510[48
111 [FiRE2UE EZATH H26.9. 1 [ 0.07 0.60 0.10 70 4 5 4 39 30 110
112 |FiRE31E EX%:hi H26.9. 1 = 0.07 0.50 0.10 70 5 11 6 53 80 220|112

3 [HELRE =% 5t H26.9.1 | & 0.09 0.60 _ 0.10 60LLE 1 ] 12 66 <10 2032

I =7 FER EZ 5t H26.9.1 | = 0.09 0.60 _ 0.10 60LLE 3 3 3 55 110 300[%2

5 [=BAF EX ¥k H26.9. 11 [ 0.09 0.40 0.10 31 21 41 10 61 360 1,200/

6 [BEdiRE (1) EX ¥k H26.10.4 [ 0.10 0.60 0.10 48 1 1 15 50 260 710|148
117 | &R (2) EZAH H26.7.7 = 0.11 0.50 0.10] 601 E 3 1 12 47 440 1,300/%&
118 [FiRIE EX %k H26.7.7 551 0.13 — — — — — 6 35 50 150(%8 SAERKHE KA
119 [FiHIL3RE EX %k H26.7.7 = 0. 11 0. 60 0.10 36 9 6 12 51 140 390(%2

20 [Bhiz =% 5t H26.7.8 | ®™ 0.09 0.40 __0.10 57 6 7 3 48 150 140[%2

21 | EDiE EZ 5t H26.7.8 | = 0.08 0.60 _ 0.10 90 3 6 6 5] 700 290[%2

22 |ASEIREZ EX ¥k H26.7.8 [ 0.07 0.50 0.10 65 3 3 6 68 290 970(%8

23 |[EHRER (1) EX¥ihi H26.7.8 & 0.07 0.50 0.10 30 10 10 3 36 130 KEES
124 |£RER (2) EZAH H26.7.8 [ 0.08 0.50 0.10] 601 E 5 4 4 66 340 1,000/%&
125 |;AHE EX %k H26.7.8 [ 0.09 0.50 0.10] 601 E 2 1 2 69 140 380(%2
126 |$rig EX %k H26.7.9 551 0.11 0. 40 0.10 4 130 140 6 40 200 570|182

27 Az EZ 5t H26.7.9 | ®™ 0.10 0.60 _ 0.10 76 6 6 7 59 7,100, 3.300/%8

28 [ZRER (1) EX %5 H26.7.9 [55 0.11 0.50 0.10 42 2 2 2 66 200 590(%8

29 |EEWR EX ¥k H26.8. 8 [ 0.10 0.40 0.10 75 5 11 4 44 50 170(%8
130 [Jek 2R (2) EZAH H26.7.10 = 0.08 — — — — — 5 26 150 450|%8 SAEREKHE EKFA
131 [IURIRE EZATH H26.7.10 [55 0.08 — — — — — 6 45 90 240|%8 SAEREKHE FRKFA
132 | EhEFiR EX %k H26. 8.8 [ 0.09 0.50 .10 55 12 15 12 54 170 550(%2

33 [—iRiE =% 5 | H26.7.10 | @ 0.08 — — — — — 3 54 370 990[5 BB KD I < KA
34 |FiE EZ 5t H26.7.9 | = 0.06 0.40___0.10 0 i i 70 62 360 1,100[%2

35 [REE%IR EZAHH H26.7.9 = 0. 06 0.50 0.10, 60LLE 3 5 10 61 100 320(%8

36 [RNFiRiE EX ¥k H26.8. 8 [55 0.08 0.80 0.10, 60LLE 3 5 3 26 <10 <10[%8




AR T2 6 FEEBIETREND-OMBAELFR (REMX)

KEAERE EERERE
. BOEMERE | BHEDERE | BB RE
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134CS 137CS 134CS 137CS 134CS 137CS
137 [ K% (1) EZhm | W688 | ™ 0.09 = = = = = - - - - 6] 48 180 0 EEE AR KA  BRK R Al
38 | K¥FE (2) EE ¥ H26. 8. 8 = 0.08 0. 60 0.10 26 16 16 < < - - 2 61 <10 0[(EEE
39 [328EIE (1) EE ¥ H26. 8.9 = 0.08 0. 60 0.10/ 60LAE 3 3 < < - - 12 65 210 640|12E 8
40 [3B5EIE (2) EX¥ihi H26.8.9 = 0.07 0.40 0.10 24 23 69 < < - - 6 55 <10 0[2EE
4 |HER EX ¥ H26.8.9 & 0.07 0.50 0.10 37 11 14 < < - - 3 53 170 450[{E B8
142 [[&E 4 EiR EXE ¥ H26.8. 9 & 0.06 0. 60 0.10 42 5 6 <1 <1 - - 4 21 <10 <I0[fEEE
143 [/ [RiE EX¥ihi H26.8. 9 5 0.05 0.40 0.10 81 9 19 <1 <1 - - 4 30 10 0[{EEEE
144 M TR EXE¥ihi H26.8.9 5 0.09 0. 60 0.10 58 9 6 <1 <1 - - 2 12 660 2,000[{2B 8
45 |l (1) EX ¥ H26. 8. 8 5] 0.12 0. 40 0.10 25 16 17 < < - - 6 44 220 650|12 B8
46 sl (2) EZ%AH H26.9. 8 & 0.11 0. 60 0.10 60LLE 1 1 < < - - 6 43 80 250| 2B 8
47 |ER AR EX¥ihi H26.9. 1 fE 0.07 1.00 0.10 56 9 13 < < - - 6 12 240 610[fREE
48 [35+18 EZATH H26. 8. 8 [551 0.10 0.70 0.10 60LL.E 2 2 < < - - 6 37 <10 [EEE
149 [FHiRIE EE¥ihi H26.7.18 & 0.08 0. 60 0.10 41 7 11 <1 <1 - - 2 52 290 850[{EEE
150 [Ehimig EX ¥ H26.7.18 5 0. 06 0. 60 0.10 38 3 7 <1 <1 - - 6 83 40 130[BEE
51 |KAHiRIE EX ¥ H26.8. 7 [ 0.07 0. 60 0.10 42 3 4 < < - - 2 12 190 550|f2 B8
52 |FIHIE EX ¥ H26.7. 18 ) 0.06 0.80 0.10 21 32 31 < < - - 11 75 790 2,500|2 B8
53 [FARIE EZAHH H26.8.7 fE 0.07 0. 60 0.10 46 7 13 < < - - 12 56 290 840|EE R
b4 [RAJE E55m | M6.87 | T 0.08 - [ - - = - - - o R K 810 72 600[aBR  [HEFEKAE AR
155 |& Fiz E%Am H26.7.8 | = 0.09 | _0.80 __0.10___98 5 7 3 < - - 6 50 460 1300288
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134CS 137CS 134CS 137CS 134CS 137Cs

156 [SEiELIE =iEIRTHE | H26.11.12 = 0.12 0.50 0.10] 601 E 3 2 <1 <1 - - 7 49 300 90|z B8
57 [ KBk SERTE 26 11.12] & 0.07 |_0.50 _0.10___ 38 i 17 < < = = 6] 53 230 I EEETE
58 |Je foiRie SERTE 26 11.12] & 0.08 |_0.50 _0.10___45 8 9 < < = - 66l 380 00[iaB 8
59 [KiRIE £5EIRTHRT | H26. 11. 13 551 0.14 0.50 0.10] 601 E 2 2 < < - - 10 68 480 400[f2 B8
60 [BR 1558 SR TE |H26.11.12] & 0.09 - - - - = - - = T 12 5! 340 100[isB 8 TR KA KAl
161 |#R1 212 SR TR [H26.11.12] = 0.13 - - - - - - - - - 10 67 480]  1,600[%2BE SHEFK D < KT A
162 |[Zpie SR AT [H26.11.13| 7 0.1 0.50 _ 0.10 60LLE 2 2 < < - - 12 71 380  1,100[aBE
163 [E/ L8 SERTHE H26.7.8 58l 0.13 0.70 0.10 75 5 4 <1 <1 - - 8 74 1,200 3,400[{2 B8
164 [rREBIE SERTE | H6.78 | ™ 0.10 | _0.70__0.10___42 2 T 3 < = = 8] 56 820 2.300[EBE
165 | KERIE 2R THT H26.7.8 551 0. 11 1.90 0.50] 601 E 3 3 <1 <1 - - 8 45 180 490[EE 8




AR T2 6 FEEBIETREND-OMBAELFR (REMX)

KE R R EEALRER
S ﬁ&z%ﬂﬂg%iﬁrﬁ mmg%%rﬁ - mm&mﬁ)f%rg
No. & mETA | EER | XE [ZRRE| Lo wmar  EWmE OBE 0SS (B3R (il ol P (82 EHE =
( S /h) 1 1 I3Z. 4 |32, T
usv ) () Com () (me/L) (Ba/L) (Ba/L) /(z;mé) (%) (Ba/kg)
134CS 137CS 134CS 137CS 134CS 137CS
166 |AIRiE HEET H26.11.13 551 0.08 - - - - - - - - - 10 69 1,200 4, 200[t2 B8 SAERKAE FRKA A
67 [ZiiE HEET H26. 11.12 = 0.08 0.50 0.10] 60LLE 1 <1 < < - - 1 36 380 1,200[f2 B8
68 |FxiRiE HEET H26. 11.12 = 0.09 0. 60 0.10] 601 E 2 1 < < - - 8 75 690 2,200[f2B 18
69 [(RHAER HEET H26.11.12 = 0.08 0.50 0.10] 60LLE 2 2 < < - - 2 39 <10 0|EEE
10 [F/ 12 HEET H26.11. 11 [ 0.11 0.70 0.10 23 18 21 < < - - 5 47 450 1,400[{E B &
171 |FRER H;EET H26.11. 11 [ 0.12 0.50 0.10 75 4 4 <1 <1 - - 5 50 280 940[{E B 5
172 [EBiE HEET H26.11. 11 [ 0.07 0.50 0.10 28 10 9 <1 <1 - - 6 40 210 130[t2 B8
173 [A LR HEET H26.11. 11 [ 0.11 0.70 0.10] 60LLE 2 1 <1 <1 - - 3 51 1,100 3,7100|t2 B8
174 |S3RiE HEET H26. 11. 11 [ 0. 11 0.50 0.10] 60LLE 1 1 <1 <1 - - 1 55 920 2,900 B8
175 |EEREE HEET H26.11.12 = 0.07 0.50 0.10 62 4 3 <1 <1 - - 12 57 10 50[fEE 18




AR T2 6 FEEBIETREND-OMBAELFR (REMX)

KEAERR EERAERE
—_— BAERERE | RAERERE | BAERERR
No. & miTR | EER | X [ZRRE Lo s EmE O BE ss (D (Hil BRI | ook (32 EYEL =
WSy )| (em (B (mg/L) (Ba/L) (Ba/L) P S Ba/ke)
134CS 137CS 134CS 137CS 134CS 137CS
176 |t HEHHET H26.8.7 [ 0.09 4.30 0.50 60LLE 3 1 <1 <1 - - 5 48 510 1, 400| FI BB




